[ LAVORM E8518T001/01 ]

SQUEGEE - Content filters: validity 05/04/2019

LAVOR L. = R55091444-1 - SQUEGEE
SERVICE Validity: from 25/03/2013 to 01/01/3000

05/04/2019
Pagel/2



Pos.
001
002
003

005
006
007
008
009
010
013
014
015
017

Code

5.513.0235
5.513.0234
4.508.1041
4.508.1040
4.508.1039
5.511.1510
3.099.1226
5.511.1396
3.200.0212
3.099.0477
3.002.0822
3.002.0821
3.002.0820
5.511.1477

LAVOR

EERYICE

Substituted by Q.ty Purchasable

6.505.0076

P NN NO R R R WERRR R B

SQUEGEE - Content filters: validity 05/04/2019

R55091444-1 - SQUEGEE
Validity: from 25/03/2013 to 01/01/3000

Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes

Min. Q.ty For mainten.

1

1

g ORD
4 ORD
2

2 EXT
1

1

6

5

12

6

12

1

Description

REAR SQUEEGEE BLADE HOLDER PLATE
FRONT SQUEEGEE BLADE HOLDER PLATE
REAR SQUEEGEE BLADE (NATURAL RUBBER)
FRONT SQUEEGEE BLADE (NATURALRUBBER)
VACCUM RACCORD

SQUEEGEE WHEEL KIT

SPHERE CONNECTION

SQUEEGEE ASSEMBLY

O-RING

KNOB M6 (THREADED PASS-THROUGHHOLE)
SCREW M6 X 45

SCREW M6 X 40

SCREW M6 X 35

SQUEEGEE ASSEMBLY

05/04/2019
Page2/2



